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by the way of Shatibiyyah
Midterm Exam 2
13 Dhu al-Qi'dah 1434
Take home exam instructions :

1. Answer al the question .Do not copy and paste from the materials. Use your
own understanding.

2. Study the material before you start. Maximum spend one hour in answering.

3. Answer all the questions you know and leave the unknown questions to the
end. You may after that try to look up the answers for the unknown questions.
However you need to mark up those answer with astar.

Exam Questions

1. What are the letters of Hams? what is the name of the opposite quality? What is this quality
relate to?
Theletters of Hams are (<& ¢l (e «d (pa ¢ i «a «&a ), The name of the opposite quality Jahr
this quality relates to the continuation or the stoppage of the breath upon pronunciation of the
letter

2. What arethe letters of Shidda? what isthe name of the opposite quality? What is this
quality relate to?

The letters of Shiddaare (< «& « b 3«2 ¢z «I ), The name of the opposite quality is
Rakhawa, This quality relates to the continuation and the stoppage of sound upon
pronunciation of aletter

3. Thelettersof (ki baia =3 ) arethelettersof The Ista'ala / tafkheen ((name the quality)

4. Give an example of lam with Targeeq and one with Tafkheem

An example of lam with Targeeqis 4 < and one with Tafkheem 4 de

5. What arethe two types of Sifat.
Sifat has two types:

a. BASIC CHARACTERISTICS are rights of the letter which are its required characteristics
that never leaveit.

b. INCIDENTAL CHARACTERISTICS arethe dues of the letter which are its characteristics
that are present in it sometimes and not presented in sometimes.

6. Givean example of Alef with Targeeg and one with Tafkheem
Alef with Targeeq is( <b ¢ «dil « cpallall) one with Tafkheem ((odbcall dal pall )




7. What isthe ruling for lam and the Alef in the word (caiball ) ?

Thelam in the word (cdball ) is Targeeq because Lam is aways Tarqeeq except in the word
(Allah) it depends on the Haraka proceeds it. The Alef intheword (o=l ) is Tafkheem because
Alef followswhat proceedsit and Da( w=) isoneif the Tafkheem letters.

8. What arethe letters of I1tbag? what is the name of the opposite quality? What is this quality
relate to?

The letters of Itbag are ( 4 <k «u= <= ). The name of the opposite quality is Infitah . This

quality relates to the adhesion of the tongue or big portion of it with the roof of the mouth

while pronouncing the letter

9. Givefour examplesof Raawith Tafkheem and one case for raawith Targeeq.
Examples of Raawith Tafkheemis ( ((OI2 caix ¢ 15088 ¢« glas; ) and one case for raawith

Targeeq( &

10. The basic characteristics have two types. Name them

The basic characteristics have two types The characteristics with opposite and the characteristics
without opposite

11. What are the letters of Safeer?

The letters of Safeer are () «uscu=)

12. What are the letters of Qalgalah? When those letters can have Qalagalah?
the letters of Qalgalah are ( = «z « <k «3) .they have Qalgalah when they have Sokoon on them.

13. How many types of Qalglah? Give the conditions of each.

There are 2 types of Qalgalah :

Kubrah (major) and Sughrah (minor)

1% : Kubrah (major)
If the galagalah letter appears at the end of aword and the reader stops on it (for
whatever reason), the galgalah sound is at its clearest / strongest

Examples

(2l — Zall - Ly -3adl — 3l - g — LS dama — (30)

2" : Sughrah (minor)
The galgalah letter will appear either in the middle or end of aword, but the reader will
continue the recitation and will not stop oniit.

In that case the galgalah will be minor.

Examples

il 3 e A — (s Laaild — Lsal g lalaii Wy — 53 () — () AN — (laad g el aadal - ol

14. Some of the Arabic Alphabet has Shidda and Jahr. How could the Arab resolve that issue?

By Qalgalah

15. If aletter of Qalglah has Shadda and it comesin the middle of aword .then what is the




rulings?
If the letter with shadda means two same |etters combined with each others the first with Sokkon
and the second has aHaraka ( fatha, Dhama or Kasra). If the letter of galgalah with Sadda on it
comesin amiddle of aword then thereisno Qalgalah at all. That because the first letter has no
galgalah by default asthe galgalah will break the merge with the other letter. And the second one
does not have galgalah either because it does not have a sokoon.

16. If aletter of Qalglah has Shadda and it comes at the end of aword and you stop onit, then
is the Qalgalah will be more than usual? Why?

If aletter of Qalglah has Shadda and it comes at the end of aword and we stop on it, then the
Qalgalah will not be more than usual. It will be the same because the first |etter has no galgalah by
default asthe galgalah will break the merge with the other letter. So the Qalagalah will be for the
seconf |etter only . hence the Qalgalah intheword ( el zall ) isexactly asit isin the word (z%- )




